### Transfers Report

This report contains the transfers results.

Contest Name

Ward 9 - Burntisland Kinghorn & Western Kirkcaldy

Valid Votes
Positions to be Filled
Quota

5,888 3 1,473

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Lesley BACKHOUSE	Scottish National Party (SNP)	1,144
Peter GEORGE	Independent	239
Gordon LANGLANDS	Scottish Labour Party	761
KATHLEEN LESLIE	Scottish Conservative and Unionist	1,479
SUSAN LESLIE	Scottish Liberal Democrats	769
Roy William MACKIE	Independent	475
Stuart MACPHAIL	Scottish National Party (SNP)	429
Bill MAIR	Solidarity - Scotland's Socialist Movement	36
Scott RUTHERFORD	Scottish Green Party	314
Fiona SWORD	Scottish Labour Party	242
	Total	5,888

Candidate KATHLEEN LESLIE Elected with 1,479 votes, being in excess of the quota of 1,473

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of KATHLEEN LESLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	21	0.00405	0.08505
Transfer to Peter GEORGE	152	0.00405	0.61560
Transfer to Gordon LANGLANDS	192	0.00405	0.77760
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	433	0.00405	1.75365
Transfer to Roy William MACKIE	151	0.00405	0.61155
Transfer to Stuart MACPHAIL	8	0.00405	0.03240
Transfer to Bill MAIR	3	0.00405	0.01215
Transfer to Scott RUTHERFORD	30	0.00405	0.12150
Transfer to Fiona SWORD	79	0.00405	0.31995
Value of non-transferable ballot papers			1.67055
	Total		6.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Bill MAIR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	1	1.00000	1.00000
Transfer to Peter GEORGE	2	1.00000	2.00000
Transfer to Peter GEORGE	1	0.00405	0.00405
Transfer to Gordon LANGLANDS	1	1.00000	1.00000
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	1	1.00000	1.00000
Transfer to Roy William MACKIE	4	1.00000	4.00000
Transfer to Stuart MACPHAIL	8	1.00000	8.00000
Transfer to Scott RUTHERFORD	2	0.00405	0.00810
Transfer to Scott RUTHERFORD	12	1.00000	12.00000
Transfer to Fiona SWORD	1	1.00000	1.00000
Value of non-transferable ballot papers			6.00000
	Total		36.01215

# Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Peter GEORGE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	1	0.00405	0.00405
Transfer to Lesley BACKHOUSE	32	1.00000	32.00000
Transfer to Gordon LANGLANDS	56	1.00000	56.00000
Transfer to Gordon LANGLANDS	9	0.00405	0.03645
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	17	0.00405	0.06885
Transfer to SUSAN LESLIE	28	1.00000	28.00000
Transfer to Roy William MACKIE	61	1.00000	61.00000
Transfer to Roy William MACKIE	88	0.00405	0.35640
Transfer to Stuart MACPHAIL	3	1.00000	3.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	5	1.00000	5.00000
Transfer to Scott RUTHERFORD	5	0.00405	0.02025
Transfer to Fiona SWORD	5	0.00405	0.02025
Transfer to Fiona SWORD	14	1.00000	14.00000
Value of non-transferable ballot papers			42.11340
	Total		241.61965

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Fiona SWORD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	2	0.00405	0.00810
Transfer to Lesley BACKHOUSE	15	1.00000	15.00000
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	170	1.00000	170.00000
Transfer to Gordon LANGLANDS	42	0.00405	0.17010
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	9	0.00405	0.03645
Transfer to SUSAN LESLIE	20	1.00000	20.00000
Transfer to Roy William MACKIE	17	1.00000	17.00000
Transfer to Roy William MACKIE	7	0.00405	0.02835
Transfer to Stuart MACPHAIL	1	0.00405	0.00405
Transfer to Stuart MACPHAIL	6	1.00000	6.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	11	1.00000	11.00000
Transfer to Scott RUTHERFORD	2	0.00405	0.00810
Value of non-transferable ballot papers			18.08505
	Total		257.34020

# Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Scott RUTHERFORD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	1	0.00405	0.00405
Transfer to Lesley BACKHOUSE	91	1.00000	91.00000
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	46	1.00000	46.00000
Transfer to Gordon LANGLANDS	7	0.00405	0.02835
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	5	0.00405	0.02025
Transfer to SUSAN LESLIE	72	1.00000	72.00000
Transfer to Roy William MACKIE	52	1.00000	52.00000
Transfer to Roy William MACKIE	10	0.00405	0.04050
Transfer to Stuart MACPHAIL	1	0.00405	0.00405
Transfer to Stuart MACPHAIL	45	1.00000	45.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Fiona SWORD	0	0.00000	0.00000
Value of non-transferable ballot papers			36.06075
	Total		342.15795

# Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Stuart MACPHAIL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	427	1.00000	427.00000
Transfer to Lesley BACKHOUSE	4	0.00405	0.01620
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	1	0.00405	0.00405
Transfer to Gordon LANGLANDS	16	1.00000	16.00000
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	18	1.00000	18.00000
Transfer to SUSAN LESLIE	1	0.00405	0.00405
Transfer to Roy William MACKIE	10	1.00000	10.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	0	0.00000	0.00000
Transfer to Fiona SWORD	0	0.00000	0.00000
Value of non-transferable ballot papers			20.01620
	Total		491.04050

# Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Lesley BACKHOUSE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	0	0.00000	0.00000
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	5	0.00056	0.00280
Transfer to Gordon LANGLANDS	272	0.13865	37.71280
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	245	0.13865	33.96925
Transfer to SUSAN LESLIE	7	0.00056	0.00392
Transfer to Roy William MACKIE	3	0.00056	0.00168
Transfer to Roy William MACKIE	389	0.13865	53.93485
Transfer to Stuart MACPHAIL	0	0.00000	0.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	0	0.00000	0.00000
Transfer to Fiona SWORD	0	0.00000	0.00000
Value of non-transferable ballot papers			111.49215
	Total		237.11745

# Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Roy William MACKIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	0	0.00000	0.00000
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	131	1.00000	131.00000
Transfer to Gordon LANGLANDS	25	0.00405	0.10125
Transfer to Gordon LANGLANDS	71	0.13865	9.84415
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to SUSAN LESLIE	1	0.00056	0.00056
Transfer to SUSAN LESLIE	152	0.13865	21.07480
Transfer to SUSAN LESLIE	52	0.00405	0.21060
Transfer to SUSAN LESLIE	156	1.00000	156.00000
Transfer to Stuart MACPHAIL	0	0.00000	0.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	0	0.00000	0.00000
Transfer to Fiona SWORD	0	0.00000	0.00000
Value of non-transferable ballot papers			355.74197
	Total		673.97333

# Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of SUSAN LESLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lesley BACKHOUSE	0	0.00000	0.00000
Transfer to Peter GEORGE	0	0.00000	0.00000
Transfer to Gordon LANGLANDS	2	0.00056	0.00112
Transfer to Gordon LANGLANDS	164	0.00405	0.66420
Transfer to Gordon LANGLANDS	251	0.13865	34.80115
Transfer to Gordon LANGLANDS	395	1.00000	395.00000
Transfer to KATHLEEN LESLIE	0	0.00000	0.00000
Transfer to Roy William MACKIE	0	0.00000	0.00000
Transfer to Stuart MACPHAIL	0	0.00000	0.00000
Transfer to Bill MAIR	0	0.00000	0.00000
Transfer to Scott RUTHERFORD	0	0.00000	0.00000
Transfer to Fiona SWORD	0	0.00000	0.00000
Value of non-transferable ballot papers			690.67591
	Total		1,121.14238